3FE HE-HRKX EES) b F %8 %
r=k5%=, % 0l E;
O -8+3 @ (-0.8)x0.7
=-5 =-0.56
3 -10.5 ® 7(3a+b)—4(2a—b)
9 "6
4 =13a+11b
-3
® 4827y + (—6ay) x (-5y) ® —4x(7x—2y)
=40xy =-28x% +8xy
@D (x+8)(x—-3) (J3 +1)?
=22 +5x-24 =4+2/3
O REBRR LT,
@ £-3x-18=0 1 —-8x+16=0
r=-3,6 r=4

35 HE-HEKA EETY b F %8 %
=A%, % 02 Eg
O 8x6 @ (-6.3)+(=0.7)
=48 =9
@ -L1i2 ® 52x-y)-33x—y)
375
_4 =T-2y
- 15
® 9xy x4x+ (—6xy) ® (56a° —14a)+7a
@D @-9) (3 +2)(J3 -9
=22 - 18x+81 =-5-2J3
= REEREMIT,
@ 2+8x+15=0 © *-49=0
r=-3-5 r=17




3F HE - HEX EETY Sk F 3| %

3F HE-HREX H¥ET) b
=R 58X, &

&

B &

3
04 %z

r—xmtek, % 03 |
D -6-7 @ (-2.8)+0.7
=-13 =
EANUPEY ) —_23a-2
A ( 25)><( 14) @ 5(3a +b)—2(3a—-2b)
3 =9a+9b
10
® (-3a) x4b x (—2ab) ® —4a(9a + 7b)
=24a°b? =-36a% —28ab
D (x+5)(x—6) (V7 +3)(J7 -3)
=2Z-x-30 =2
O REEREMT,
@ 22+3x=0 2 +14x+49=0
x=0 -3 r=-7

D 24+(-8) @ (=2.5)x(-0.4)
=-3 =1
3 %—ﬁ @ 4(5x-2y)-33x+y)
11 =11x—-11y
12
® (—482%y) + (—6x) +4x ® (12xy —4x) + (—4x)
=2y =-3y+1
@D @+5)(x-5) (3 +2)(J3 +1)
=x2-25 =5+3./3
S RHEEREMT,
@ Z2+x-42=0 © 2-36=0
xr=-7,6 r=16




3F HHE-HRERKX BEETYCH

F=)RH5%#=,1 & 05 2

D -12+4 @ (-0.6)x0.4
=-8 =-0.24
© _%+% @ 3(4a+b)-22a—b)
4 =8a +5b
=73
® 5625y + (—7xy) x (—3y) ® —6x(5x—3y)
=24xy =-30x% + 18xy
@ (@+7)x-3) (V5 +2)
=x? +4x-21 =9+4./5
O RHEERLRIT,
@ 22 -5x-24=0 12 —18x+81=0
r=-38 xt=9

35 HE-HEKA EETY b F %8 %
F=RH%¥EX, & 06 Eg
® -7x9 @ (—4.8)+(-0.8)
=-63 =6
®-£+32 @ 5@3x-y)-3Ex—4y)
7 =6x+7y
- 20
® 61y x4x+ (-8xy) ® (324° -8a)+4a
=-3x =8a-2
@D @-57* 7 +2(J7 -3)
=22 -10x+25 =1-J7
= REEREMIT,
@ 2-9x+18=0 © 2-100=0
r=36 r==10




3F HE-HEKX BHBES)H
F=RHfEN, &

g M &

K
08 |5

3F HE - HREKX HEBTY b ® 4 =
r—rrReX, % 07 |
O 4-7 @ (—4.5)+0.9
_8 D 2 _9q—
@ (75)x(-73) @ 5@2a+b)-2(a—Db)
2 =8a+7b
=9
® (-3a) x5b x (—4ab) ® -7a(9a +4b)
=60a°b? =—63a% —28ab
D (x+5)(x-7) (V5 +/2)J5 -J2)
=22 -2x-35 -3
e RHEERERIT,
@ £ +7x=0 © 2 +4x+4=0
x=0,-7 r=-2

D 27+(=3) @ (-2.5)x(-0.8)
=-9 =2
3 %—% @ 4(5x-y)-33x+2y)
13 =11x—-10y
=715
® (-36x%y) + (—61) +2x ® (24xy—3x) + (-3%)
=3y =-8y+1
@D @+8)(x-8) (J6 +5)(/6 -2)
=2’ - 64 =—4+3/6
kAR EMIT,
@ 22+4x-32=0 2-16=0
rx=-84 r==14




